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Note :– This paper is of Thirty five (35) marks divided into

two (02) sections ‘A’ and ‘B’. Attempt the

questions contained in these sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on

th e given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

  (35)  (02)

          





       


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Section–A

–

Long Answ er Type Questions

 2×9½=19

Note :– Section ‘A’ contains Five (05) Long-answer type

questions of Nine and Half (9½) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(9½)

(02) 

1. (a) Write different statements of second law of

thermodynamics.

  

(b) Explain 'Entropy as a function of volume and

temperature for an ideal gas.





2. Explain the following :

(a) Clapeyron equation

(b) Common ion effect

(c) Henry's law
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

 

 

  

3. What is Gibbs phase rule ? Draw and explain phase

diagram of water system.

           

 

4. (a) Write note on Freundlich's and Langmuir's

adsorption isotherm.





(b) Calculate the potential of a half- cell having zinc

electrode in 0.01 M ZnSO4 solution at 25°C.

Given E° = 0.763 V.

25°C  0.01 M ZnSO4    

E° = 0.763

V

5. (a) Define transport number. How transport number

is determined by Hittorf's method ?

      


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(b) What is electrochemical series ? Draw standard

hydrogen electrode.



 

Section–B

–

Sh ort Answ er Type Questions

 (4×4=16)

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Four (04) marks each. Learners are

required to answer any four (04) questions only.

 (08) 

(04)

(04) 

1. Draw and explain P-V diagram of Carnot cycle.

P-V 

2. Write short notes on the following :

(a) Clausius inequality

(b) Azeotrope



 

 



A–053/BSCCH –203 ( 5 ) P.T.O .

        /CH –07

3. Explain Le-Chatelier's principle.



4. Define phase, component and degree of freedom with

example.

         



5. What is Adsorption ? Describe the types of adsorption.



6. Describe Arrhenius theory of electrolytic dissociation

and its limitations.





7. Explain reversible and irreversible cells.

  

8. (a) Calculate the efficiency of a Carnot engine

operating between the temperature 25°C and

225°C.

25° 225°C 



(b) Write short note on over potential.



**************


